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function u=us(n)
for i=1:1ength(n)
if n(i)>=0
u(i)=1;
el se
u(i)=0;
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end

end

1 )‘ oolawl L’ 1 '1 JL.A é—"j‘ '2

cl ear al

clc

cl ose al

n=-10: 10; plot of unitstep
% - pl ot of unit step--
subpl ot (3,1, 1)

ul=us(n);

stem(n, ul)

xl abel (" n")

ylabel ("u[n]")
ylim([-0.5,1.5])

grid on

title('plot of unitstep')
% - pl ot of u[-n+2]--
subpl ot (3,1, 2)
u2=us(-n+2);

stem(n, u2)

xl abel (" n")
ylabel (" u[-n+2]")
ylim([-0.5,1.5])

grid on

title('plot of u[-n+2]")
% -plot of u[n]+u[-n]--
subpl ot (3,1, 3)

u3=us(n);

ud=us(-n);

st em(n, u3+u4)

xl abel (" n")

ylabel (" u[ n] +u[-n]")
ylim([-0.5,3])

grid on

title('plot of u[n]+u[-n]")

u[n]+ul-n]

3-1 Jlio 4 bgype o5 -3

n=[ - 10: 10] ;
x1=si n(2*pi *n/ 3);
X2=si n(6*pi *n/ 7);

subpl ot (2,1, 1)
stem(n, x1)

x| abel ("' n")
ylabel (" x1[n]")
grid on

subpl ot (2, 1, 2)
stem(n, x2)

x|l abel (" n")
ylabel (' x2[n]")
grid on
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function u=inmp(n)
for i=1:1ength(n)
if n(i)~=0
u(i)=0;
el se
u(i)=1;
end

end

4 &b 5l ooliiwl b a6 0l gusy =9

clear all
clc

cl ose all
n=-10: 10;
ul=inp(n);
stem(n, ul)
xl abel (" n")
yl abel (' delta[n]"'
ylim([-0.5,1.5])

grid on

title('plot of inmpulse function')

plot of impulse function

)

delta[n]
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>> synms z

>> expand((z-1)*(z-2)"2)

ans =

z"3 - 5*z"2 + 8*z - 4

>> [r,f,k]=residue([2 O 1],[1 -5 8 -4])

. 0000
. 0000
. 0000

. 0000

. 0000
. 0000

[]

>> x_t=tf([1],[1 2 2])

Transfer function

s"2 +2s + 2

>> x n=tf([1],[1 2 2],0.1)

Transfer function

Sanpling time 0.1
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0.368((1- 0.5w)(1+0.5w)) +0.264(1- 0.5w)’

(1+0.5w)” - 1.368(1+0.5w)(1- 0.5w)+0.368(1- 0.5w)’
0.368(1;0,5W-/075W - 0.25\/\/2) +0.264(1- w+0.25w")
(1+w+0.25w) - 1.368(1+0.5w=05w - 0.25w ) +0.368(1- w-+0.25w" )

_ 0.368- 0.092w” +0.264- 0.264w+ 0.066W
A +w+0.250 - 1368 +0.342w +0-368 - 0.368w+ 0.092w

_ - 0.026w” - 0.264w+0.632 _ - 0.0381(w- 2)(w+12.14)
0.684w” +0.632w w(w+0.924)

Bode Diagram

System: sys

Gain Margin (dB): 7.58

At frequency (rad/sec): 1.56
Closed Loop Stable? Yes

Magnitude (dB)

T+

System: sys

Phase Margin (deg): 30.4
Delay Margin (sec): 0.653

At frequency (rad/sec): 0.812
Closed Loop Stable? Yes

Phase (deg)
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2 -1 0 1 2 3
10 10 10 10 10 10
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MATLAB s u,l5 -9-4

8-4 Jls

>> sys=tf([0.3935 0],[1 -1.6065 0.6065], 0.5)
Transfer function
0.3935 z

z"2 - 1.607 z + 0.6065
Sanpling time 0.5
>> rl ocus(sys)

>> sys2=tf([1 0.7453],[1 -1.4119 0.4119],1)
Transfer function
z + 0.7453

z"2 - 1.412 z + 0.4119
Sanpling time 1
>> r| ocus(sys2)

>> sys=tf([-0.026 -0.264 0.632],[0.684 0.632 0])
Transfer function
-0.026 s"2 - 0.264 s + 0.632

0.684 s”"2 + 0.632 s
>> bode(sys)
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BASIC TESTER FOR THE A/D

Features

« 80C48 and 80C80/85 Bus Compatible - No Interfacing
Logic Required

- Conversion Time <100us
- Easy Interface to Most Microprocessors
- Will Operate in a “Stand Alone™ Mode
Differential Analog Voltage Inputs
- Works with Bandgap Voltage References
- TTL Compatible Inputs and Outputs
= On-Chip Clock Generator

- Analog Voltage Input Range
(Single + 5V Supply) OV to 5V

No Zero-Adjust Required

- 80C48 and 80C80/85 Bus Compatible - No Interfacing
Logic Required
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‘ Test Circuits (continued
Dual-In-Line Package i
i
NC {NOTC 2} ==

2 15
GND - =V REF(-)

3 14
Vi = e VR EF (4]
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MSE A] = UL s 158
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A3 — — 2

L% COMPENSATION

M—. -Li.s

Features
m Relative accuracy: +0.19% error maximum (DAC0808)
m Full scale current match: +1 LSE typ
m 7 and 6-bit accuracy available (DAC0807, DACOB0G)
m Fast setiling time: 150 ns typ
B MNoninverting digital inputs are TTL and CMOS compati-
ble
High speed multiplying input slew rate: B mA/ns
Power supply voltage range: £4.5V to £18V
Low power consumption: 33 mW @ £5V
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